The Scalar Form of a Linear Equation

Y = mx + b is LINEAR because it contains only first degree variables, that is, x has and exponent of 1 and y has an exponent of 1.  

We can rearrange this Slope Intercept Form using the familiar Rules of Equations so that it is in the form Ax + By + C = 0.  This is called standard form of a linear equation.

Ex.1:  change y = 3 x + 2 to standard form


-3x  +  y - 2  = 3x – 3x  + 2 - 2
(subtract 3x and –2  from LS and RS)


-3x  +  y  -  2  =  0


3x   -   y   +  2  =  0


(multiply through by –1)

Rules for Standard form:

Order:  Ax + By + C = 0

  The first coefficient, usually A, must be greater than 0


   A, B, C must be integers

Ex. 2:  Change 3x +  2y  -5  = 0 to Slope Intercept Form



3x            + 2y         -5           =     0





2y   =           





y   = 

CHANGE TO STANDARD FORM (SHOW WORK ON LOOSELEAF)

1.   Y = 4X +5

2.   Y  =  -2X   +  3

3.   Y  =  6X  - 2

4.   Y  = X

5.    Y   =    –3X  -7

6.   Y   =    –X  -1

7.    Y  =   5X  - 11

8.    Y   =   8X   -  3
CHANGE TO SLOPE-INTERCEPT FORM (SHOW WORK ON LOOSELEAF)

1.   2X  +  Y  +  3  =  0

2.   X   -   Y   -   4   =  0

3.   3X   -  Y  +  2  =   0

4.    8X +  4Y   +  15   =  0

5.    3X  +  2Y   -  6  =  0

6.    5X  +  10Y   +2   =   0

7.    7X  -   3 Y   -   1   =   0

8.    6X   -  5Y   =   0









